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S MASSE UEMY X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 240
Al 360
01 = LH o4 1l 3,000 3,000 0
Ooxgz2z g2Fa 3,000,000& 3,000
= 2,400
< 240
Al 360
206 = Hl 3,000 3,000 0
= 2,400
= 240
Al 360
01 =8l 3,000 3,000 0
OXEZZMNG (22RNE) Mg 72
3,000,000& 3,000
= 2,400
< 240
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301 LA F 200,000 240,000 240,000
= 160,000
< 16,000
Al 24,000
01 MI28HE+06l= 200,000 240,000 A 40,000
OXNEZZMNG (2E2RXNE . SEXC201)
200,000,000 200,000
= 160,000
< 16,000
Al 24,000
307 21201 A 2,862,847 2,708,526 154,321
= 2,290,277
< 229,028
Al 343,542
05 BIZERI & 3 2,862,847 2,708,526 154,321
OXNEZZ2 A (RAEDI ) 2,862,847,000& 2,862,847
= 2,290,277
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10 A SAANEEHESIHEX 400,535 386,822 13,713
OXEXEHyH 29 400,535,000& 400,535
= 280,375
Al 120, 160
NE22, NENEHEH L ZATEHEHSH(XEA 28,989 28,604 385
d&el)(2x)
= 20,292
Al 8,697
307 ciztol A 28,989 28,604 385
= 20,292
Al 8,697
10 MM SAANEEHESIGHEX 28,989 28,604 385
OXE LR ASEHAK 2 Atdl 22l
28,989,000 28,989
= 20,292
Al 8,697
NEHAEH SAX EE2H(EX) 15,840 15,840 0
& 4,752
Al 11,088
307 giztol A 15,840 15,840 0
& 4,752
Al 11,088
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OXSXEHEH SAXNF SEE=E 15,840,000 15,840
& 4,752
Al 11,088
NETEHEH 29 4,850 4,850 0
201 et 9| 4,850 4,850 0
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OAl & ZH KXY 4,850,000& 4,850
NEa=sXN 2susa 22 23,900 23,900 0
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01 AP 2t 2| H| 12,200 12,200 0
OLet4=24| 12,200
o 1E=X EsuUE gFFN S
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o S&J| ™AL =2 3,000,000& 3,000
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= N H
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= W
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2,015,326

Mo Zohel =Xs
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= W
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521,
564,
859,

,097,

616
987
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540

4,690,

439

A 168,823
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550

,057

A 507

400

400

400,000&

400
400

400
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202 04l
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,657
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01 =LHO I
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NAIE HEFA 1,150, 000&
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,657
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= H W
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66
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29,006

307 glztol &

= M W
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66
99

,026
,013
,005
,008
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020

29,006
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XelArd sl (HAE)XS
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=z N H
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29,006
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S =

=e =X

Mot &Zohel sX1sa

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= Hn

338,878
135,551
203,327

S
e
e
=

= N H

677,756

338,878
135,551
203,327

637,554

40,202

04 DIt Z22XsE+
(o]

OZ0H & Xl At

et AT (ML A )X
677,756,000&

= M W

677,756

677,756
338,878
135,551
203,327

637,554

40,202

ZOH L X2l X2 (Al L X2l ) (BX)

= MW

118,192
59,006
23,639
35,457

102,100

16,092

= W

118,192
59,006
23,639
35,457

102,100

16,092

04 DIt 22 XS+
(o]

OZ0H & Xl At

2t A2l (AlZHA) K&
118,192,000&

= 0N

118,192

118,192
59,006
23,639
35,457

102,100

16,092

03
2
e
Ja
b
sl
Ho
02
HL
P

= M

1,314,488
262,898
1,051,590

1,276,201

38,287

307 21201 &

=

1,314,488

262,898
1,051,590

1,276,201

38,287

1,314,488,000&

H

Al

1,314,488
1,314,488

262,898
1,051,590

1,276,201

38,287

H

Al

264,014

52,804
211,210

237,447

26,567

307 glztol &

H

Al

264,014

52,804
211,210

237,447

26,567

10 M SXNANEEE2SHES

OZ0Q HEOISANBME 2

264,014,000&

264,014

264,014

52,804
211,210

237,447

26,567
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T IEMES
CTOF HOHY =X B

SN FH-SA(EN) - MBAY - BES
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i

2

ZHA+HSAUHR2E (EX)

H

Al

248,926

49,785
199, 141

179,737

307 21201 &

H

Al

248,926

49,785
199,141

179,737

69,189

10 A SAAIEHIESSHIEX

o
OZL+=0SAME 29

248,926,000&

H

Al

248,926

248,926

49,785
199,141

179,737

69,189

ZOI=SRAIE SAL SE2L(EX)

= H

92,220
27,666
64,554

81,720

10,500

307 21201 A

= N

92,220

27,666
64,554

81,720

10,500

10 M SXNANEEE2SHES

OZWHASXAIE SAT

gag X

Jm

| s |
=

92,220,000&

= M

92,220

92,220

27,666
64,554

81,720

10,500

>
W
]
=
o
04
pa]
J
0
H
b

= M

7,677
2,303
5,374

7,677

307 21201 A

= M

7,677
2,303
5,374

7,677

A S XA E X

OAZEM BXu=F

7,677,000&

H

Al

7,677

7,677

2,303
5,374

7,677

Al

10,703

3,211
7,492

11,730

A1,027

307 glztol &

Al

10,703

3,211
7,492

11,730

A 1,027

10,703,000&

= M

10,703

10,703

3,211
7,492

11,730

21,027

KAMEOHQ HOAL XNJAHMH 2L (BX)

=

92,807

25,058
67,749

68,515

24,292

307 21201 &

H

92,807
25,058

68,515

24,292




2H: FoI=XD

g Zoeg=sisd

el THOH ZoHel =|XS (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 67,749
11 AISI S XA E = 92,807 68,515 24,292
OZY BIYAIE XNAMEH =
92,807,000& 92,807
< 25,058
Al 67,749
AN B AIE &EX 1,520 1,520 0
201 LBH2E| 1,520 1,520 0
01 At 22l 1,520 1,520 0
OBt~ 1,520
o HOHQAEOYAIL HRFX 1,520,000& 1,520
RO XIGAS THEAME 2I(EX) 262,515 243,872 18,643
< 56,103
Al 206,412
307 gl2tol & 262,515 243,872 18,643
< 56,103
Al 206,412
10 M3 SXNANEHIS2IHEX 162,150 150,092 12,058
OZ0e FAESAIE 2 (212H])
146,391,000& 146,391
= 29,278
Al 117,113
OZMQ F2ABSAIE 2 (&H229dl)
15,759,000& 15,759
< 3,152
Al 12,607
11T AISI S XA E = 100,365 93,780 6,585
OZ0Hel Ok &t =3 MY 64,365,000 64,365
< 12,873
Al 51,492
OZojel orsgtna 29 36,000,000& 36,000
< 10,800
Al 25,200
ZojC HAMEBALE 2L (IFH)(EX) 4,000 414,908 A 410,908
= 2,000
< 600
Al 1,400
402 RI2EX20| 4,000 0 4,000
= 2,000
< 600
Al 1,400
02 QI 2 A EZ(OI X TH ) 4,000 0 4,000
OZMHATATHEAE JIs2 4,000,000& 4,000
= 2,000
< 600
Al 1,400
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2N

X{ XH -
S =

=e =X
e =xsa

el THOH ZoHel =|XS (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OO HAMEALE 2H(ZH)(EX) 476,508 425,930 50,578
< 95,302
Al 381,206
307 gl2tol & 476,508 425,930 50,578
< 95,302
Al 381,206
10 M3 SXNANEHIS2IHEX 476,508 425,930 50,578
Ol HIMEANE 2 476,508,000 476,508
< 95,302
Al 381,206
Zoeldsas 24 232,334 232,334 0
307 glz2tol & 232,334 232,334 0
10 ALSISXAIEEE2EHEX 232,334 232,334 0
OZiedNsz 29 232,334,000 232,334
AMZEOHel TVAIE X & 1,500 2,000 A 500
301 LENF 1,500 2,000 A 500
01 MEIBEE 253 1,500 2,000 A 500
Oz ¢ (0l0Ed) 01823 XH
1,500, 000& 1,500
ZOHHMUNRHEH 29 XN (EX) 193,880 94,117 99,763
< 58,164
Al 135,716
307 glz2+ol & 193,880 94,117 99,763
< 58,164
Al 135,716
10 ALSISEXAIEEE2GHEX 193,880 94,117 99,763
OZoe BMNSHEH 24 193,880, 000& 193,880
< 58,164
Al 135,716
O L X CIALS (B OHE) XM X2 35,000 0 35,000
307 21201 A 35,000 0 35,000
11 ALSI S XAEE = 35,000 0 35,000
OZ0e dXelMG(ZBAE)NHM A
35,000,000& 35,000
O =SXEI2 A (XHA) 156,000 0 156,000
401 A& BIZ 201 8I 156,000 0 156,000
01 A& HI 156,000 0 156,000
OZU=XE2 =XHE L U2 BA
156,000, 000& 156,000
Zofel xR 5,513,472 3,717,091 1,796,381
= 3,544,339
= 675,146
Al 1,293,987




2H: FoI=XD

g Zoeg=sisd

Rl el HEXE (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
Fojere TExA 13,795 14,617 N822

201 £et23E | 12,095 12,095 0
01 At 22l bl 7,245 7,245 0
Ot S| 2,584
o Zoe St gR=A 1,000,000& 1,000
o ol MEXE FRFI MRES 78
584,000& 584
o ZOHe X=X =XEX MZE 1,000,000 1,000
022+g 2,661
0 FABS +BNHYOARE FH2Y
2,661,000& 2,661
O=&Hl 2,000,000& 2,000
02 332gl 4,850 4,850 0
OZ2Z23LHA 4,850
o HOHA=XIHE REHSRS 4,850,000 4,850
202 O 4 1,700 2,522 N B22
01 =LHodtl 1,700 2,522 N 822
Oz WeEEXd g2=& 1,700,000 1,700
SO EH XX & 141,278 101,289 39,989
201 fEt2E | 2,585 2,585 0
01 At 2t 2l | 2,585 2,585 0
o2e=8H| 585
o Zljole&e dRFN MRES 7Y
585,000& 585
O=&Hl 2,000
o FoHEH e dRFA 2,000,000& 2,000
202 o4 Hl 510 821 A3
01 S OHI 510 821 A3
O 2e 2R 510,000& 510
307 glztol & 100,183 97,883 2,300
03 QZHMEE2EHER 48,483 48,483 0
OX MM AIR2a 2HH  3,898,000& 3,898
OZ=HEMHAE R MR 2|
4,000,000& 4,000
OUSHMISES AIRa 28 3,420,000 3,420
OANZHMI S AR 28 4,000,000 4,000
OAZZ IS 3l 2HAL el Al 20,000,000 20,000
OAZEMAE3 e 28I 2,585,000& 2,585
OO0t gos ARA 2 3,600,000& 3,600
OMETHMI S AR 2gH 3,800,000 3,800
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2N

xD|EX|ﬂ|>

T T/

HH: ZHUSNSH
©2 o MEXE (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OSSANEHA=XE ALRA 23|
3,180,000& 3,180
11 ALSI S XA E = 51,700 49,400 2,300
OR0PJls ZOARDSAY "BARUE 0120|
g ZZHE"(ZASI2) 2,430,000 2,430
OXHMEHES StH =S 810,000& 810
OE=ZH SEu=H 810,000& 810
OEZXHNEH HEH3 900,000& 900
OHE=2ZHe XNEIIsZIIHS 1,440,000 1,440
OXIXMEOCIL & A 1,530, 000& 1,530
O S2AAE) 2 E & DIUHI(BEHN
) 2,430,000& 2,430
OSEHZOHASE 3| otH ==& 3 900,000 900
OMALS SH HH 22 §sZESA(BEH)
1,800,000 1,800
OnEEHWMHES StH=HSF 810,000& 810
OENE 2 Iz (RSHEWM)
1,200,000& 1,200
OANLZCIEs BEdU= 3,000,000& 3,000
OAIZZO0HR SHAHZSII== 810,000& 810
OEX &9 & #HA(AZ) 1,000, 000& 1,000
OA2IZ2 BE DISAIE(AZ) 1,000,000 1,000
O FOIA Al&A 2 IJI=E0HE 700,000 700
O=s0tele & 18 At 990,000& 990
O=0t218 23 otAH==E3 810,000& 810
OZsd & M=XY s0te X=X el
1,260,000& 1,260
O=s0t0 8= =3t a 1,530,000 1,530
O=0t210] 2tE= At WA 1,620,000& 1,620
OLZZHRIES dHAH=SE L 23
810,000& 810
OFIDIs & 228 olg 22 m
810,000& 810
O222 g JIE A 3,000,000& 3,000
OALSH L BBY oY AOIL
2,300,000& 2,300
OZoere & 718 At 13,000, 000& 13,000
OZ2 XA 4,000,000& 4,000
402 RI2EXt20l ™ 38,000 0 38,000
01 Q12 X2 AF 2 2= (REXITH &) 38,000 0 38,000
OAIZZ0HR 3l JIsE2 At 38,000,000 38,000
ZOje HEXNRS0I NA(2X) 4,273,280 2,888,535 1,384,685
= 2,991,296
< 512,794
Al 769,190
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DM EXIEA

el

X ZH
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Zoel X

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

308 XM S0IH

= N H

4,273,280
2,991,296
512,794
769,190

4,273,280

4,273,280,000&

= HmnH

4,273,280
4,273,280

2,991,296
512,794
769,190

4,273,280

= Hn W

9,638
6,746
1,157
1,735

4,168

5,470

308 NtXIEHMSOIE

= Hn W

9,638
6,746
1,157
1,735

9,638

n
S
OSSHMY 252X IJtata

9,638,000&

= M W

9,638
9,638

6,746
1,157
1,735

9,638

= M

189,111

56,733
132,378

185,068

4,043

308 XM S0H

H

Al

189,111

56,733
132,378

189, 111

= i

189,111

189,111

56,733
132,378

189, 111

ZOHOISIHIEX A (EX)

= N H

243,981
170,787
24,398
48,796

243,981

= Hn A

243,981
170,787
24,398
48,796

243,981

243,981,000&

= MW

243,981

243,981
170,787
24,398
48,796

243,981

YUYl FASBENHANA (LX)

369,730

140,952

228,778
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xD|EX|ﬂ|>

T T/

Hy: H=XE
Selr ZoH XX (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 258,811
< 33,276
Al 77,643
308 XXIEHH SOl 369,730 0 369,730
= 258,811
< 33,276
Al 77,643
N 3JN2SUHUe3AHAE A 369,730 0 369,730
OZZHM FHEa&sMHHA X
369,730,000& 369,730
= 258,811
< 33,276
Al 77,643
SUSESAHHA N (EX) 166,713 77,647 89,066
= 116,699
< 15,004
Al 35,010
308 XX EHSOIA 166,713 0 166,713
= 116,699
S 15,004
Al 35,010
113/ 2SHUHSZAEEALS I 166,713 0 166,713
ogn= EsMtdlA X 166,713,000& 166,713
= 116,699
< 15,004
Al 35,010
LA FAESAHUA S0 NJ(BX) 105,946 60,774 45,172
< 31,784
Al 74,162
307 21201 A 105,946 60,774 45,172
< 31,784
Al 74,162
05 RIZt2IEt = 105,946 60,774 45,172
OO ZAHEMHIA £t N
105,946,000& 105,946
= 31,784
Al 74,162
ZOoHol MEory X& 8,165,400 7,777,632 387,768
= 5,058,047
< 759,363
Al 2,347,990
ZOHQOIE SLEHS 7,000 7,000 0
301 LA S 7,000 7,000 0
01 MEIBEE 063 7,000 7,000 0
OFMeIE E¢&E= NE 7,000,000 7,000
Fopedzad 20 XNS(Ex) 5,360,116 5,109,452 250,664
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M HOMWU=SXSE
ol mOHOI MEOIE X CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 3,752,080
& 482,411
Al 1,125,625
301 et A= 5,360,116 5,109,452 250,664
= 3,752,080
& 482,411
Al 1,125,625
01 Al E & A 46 2 5,360,116 5,109,452 250,664
OXEA= 5,360,116,000& 5,360,116
= 3,752,080
& 482,411
Al 1,125,625
ZOHEEII=x) NS(BEX) 612,766 605,392 7,374
= 428,936
=} 73,532
Al 110,298
301 et M= 612,766 605,392 7,374
= 428,936
= 73,532
Al 110,298
01 M EXEE 4562 612,766 605,392 7,374
OZFMHLEE(IIx) 612,766,000 612,766
= 428,936
& 73,532
Al 110,298
S (XA S) AS(EX) 518,833 484,350 34,483
= 363, 183
= 62,260
Al 93,390
301 et A= 518,833 484,350 34,483
= 363, 183
== 62,260
Al 93,390
01 Al E & A 462 518,833 484,350 34,483
OXHEH (XA 5) 518,833,000 518,833
= 363, 183
= 62,260
Al 93,390
ZHOHQl o 2H| A (EX) 147,090 313,236 A\ 166, 146
= 117,673
= 11,767
Al 17,650
308 MXISHHMSOIA 147,090 313,236 A\ 166, 146
= 117,673
& 11,767
Al 17,650
11 B 2SHUSEAXNE AIS Y 147,090 313,236 A\ 166, 146
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2N
DM EXIEA

el

X ZH
S =

xD|EX|ﬂ|>

T T/

HOHQl MEOIN X &

= O =

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

O =t

A&

147,090, 000&

= N W

147,090
117,673
11,767
17,650

EX0|7w

gl
H
kA

= MW

5,834
4,668
467
699

276

4,442

= M W

5,834
4,668
467
699

276

A4, 442

5,834,000&

= W

5,834
5,834

4,668
467
699

,276

A4, 442

Pan
>
an
0
2
e
™
m
==

2 HAH XI& (&2

=)

= W

6,550
3,275
1,310
1,965

,550

= W

6,550
3,275
1,310
1,965

,550

ZAHl K&
6,550,000&

= N H

6,550

6,550
3,275
1,310
1,965

,550

5,100

,100

5,100

,100

5,100
3,420
3,420
1,680

1,680

,100

H

Al

942,494

94,249
848,245

800,

000

142,494

307 21201 &

H

Al

942,494

94,249
848,245

800,

000

142,494

10 AtRI S XA 2

F2ZHEx

942,494

800,

000

142,494
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2N
DM EXIEA

el

X ZH
S =

xD|EX|ﬂ|>

T T/

HOHQl MEOIN X &

= O

Off &t 24

=

i
2m

ON2E ZMHREE HFAE 29H &

942,494,000&

= M

942,494

94,249
848,245

= N H

3,000
2,100
270
630

3,000

301 &

rz
i
[pal
0u

= N H

3,000
2,100
270
630

3,000

3,000,000&

=z N W

3,000
3,000

2,100
270
630

3,000

1
ro
o
02
0z
2
10
og
g
N
P
Z
fix
o
02
]
o
H
b

= H W

524,974
367,482

31,498
125,994

426,276

98,

698

307 21201 A

= M W

524,974
367,482

31,498
125,994

426,276

98,

698

AE 2g8l XI&
524,974,000&

=z M H

524,974

524,974
367,482

31,498
125,994

426,276

98,

698

ZOAEHAH S +clbl XA

5,000

7,000

N2,

000

5,000

7,000

N2,

000

OZHAEMA & =2ldl X& At
5,000,000&

5,000

5,000

7,000

N2,

000

FOAHFAIE HEXNE Wl (B=x)

0y
0

= MW

26,643
18,650
1,599
6,394

26,

643

307 21201 &

= W

26,643
18,650
1,599
6,394

26,

643

10 AR SAAEHE2SEHIEX

OZMAANFAIL MEXNEZR WA X

26,643,000

26,643

26,643

26,

643
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AN =S
Hy: H=XE
ol FONQ MEOIE X (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 18,650
< 1,599
Al 6,394
HE 2L (FU=SX) 203,702 203, 120 582
= 65,712
Al 137,990
Jl2dd (=2 =X 1) 40,020 40,020 0
Jl2dH(FU=X ) 40,020 40,020 0
202 04l 34,800 34,800 0
01 = LH YI 34,800 34,800 0
OZE=Z 0 100,000& »29H » 12& 34,800
203 PR =&l 5,220 5,220 0
04 EA2IEIRFA 5,220 5,220 0
O =X 435,000& x12& 5,220
HAR2IGH(FU=XL) 163,682 163, 100 582
= 65,712
Al 97,970
SE Al Zel AL oA X2 (XA ) 25,340 25,340 0
101 @124 dl 25,340 25,340 0
03 RIAHAZZ2THE = 25,340 25,340 0
OSEAtd 2l Al S E F Ot 10,000, 000& 10,000
OSSAd Zel A dtIs2Y 4,800,000& 4,800
OSS At 2l A HIHE &HH| 4,300,000 4,300
OSS At 22l AL Z3HZ Al 6,240,000 6,240
SEHAt ZelAb Q1A NA(EX) 138,342 137,760 582
= 65,712
Al 72,630
101 1A Hl 138,342 137,760 582
= 65,712
Al 72,630
03 RIAHAZ 22+ 138,342 137,760 582
OSE A 2l A 21248l XI& 138,342,000 138,342
= 65,712
Al 72,630
NRes(FU=EX) 2,387,429 2,263,707 123,722
WEAHAXE(F2U=SX 1) 2,387,429 2,263,707 123,722
HWEAHHX S (F2USX 1) 2,387,429 2,263,707 123,722
701 JIEtsl HSHES 2,387,429 2,263,707 123,722
01 JIEtSI HEES 2,387,429 2,263,707 123,722
092235 SE83H d&3  2,387,429,000& 2,387,429
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